
CH-1 NUMBERS

ASSIGNMENT NO. 1

SUBJECT: MATHEMATICS CLASS-III _____ APRIL,2025

NAME: ________________________ DATE: _______________

1. Tick the correct option:
Six thousand nine hundred sixty two is written as

a. 692 b. 6962 c. 6726 d. 6062

2. Arrange the numbers in ascending order.

6634, 8423, 2345, 909, 3628-

3. Fill in the blanks

a. In 6538, 5 is in place.

b. In 9848, 4 is in place.

c. The largest 3 digit number is .

d. Ordinal number of 49 is _______________.
4. Write before, after and between of the following numbers:-

Before Between After

8742

3670

5. Circle the odd numbers and underline the even numbers :-

a. 2463 , 824 , 9260
b. 6741 , 1029 , 7542

6. Express the following in Roman numerals.
a. 56 - ______ b. 32 - ______



7. Skip count forward:-
(a)Count by 5s

768, 773, , ,

(b)Count by 4s
324, 328, , ,

7. Fill in the space by using ‘<’, ‘>’ or ‘=’.
a. IX 6 b. XXX ______ 38

8. Write the number for the following:
Expanded Form Number

a. 5 thousands + 6 hundreds + 8 ones

b. 3 thousands + 4 hundreds + 2 tens + 1 ones

9. Write the face value and place value of the digit that is underlined in each of the following numbers.

Number Face Value Place Value

a. 9 8 2 5

b. 7 5 4 6

10. Read the abacus. Then, write the number and the number name.

Number - __________________________

Number name -

______________________________________________________________

______________________________________________________________

_



DIRECTION : In question number 11, a statement of Assertion (A) is followed by a statement
of Reason.Choose the correct option-

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason is true.

11. Assertion (A): 6743 here place value of 7 is 7 100 = 700.
Reason (R): Place value of number is calculated by multiplying face value with its place.

12.Form the greatest and smallest4-digit numbers with the following digits .

Numbers Greatest Smallest

4, 6, 7, 2

0,9, 4, 8

CASE STUDY BASED QUESTION

13.A shopkeeper runs a juice business and sells 4,672 juice bottles in a month. He keeps track of his
sales and is now calculating the number of bottles sold..
On the basis of above information , answer the following questions:

a. Write the number name of the total number of juice bottles sold by the
shopkeeper.:_______________________________________________________________

b. Write the expanded form of the number of juice bottles sold.
_________________________________________________

c. Write predecessor and successor of the number of juice bottles sold:



CH-2ADDITION

ASSIGNMENT NO. 2

SUBJECT: MATHEMATICS CLASS-III _____ APRIL,2025

NAME: ________________________ DATE: _______________

1. Add:

Th H T O

6 2 5 7

+ 3 6 1 2

=

2. Write in columns and add:
a. 4235 + 3427



b. 462 + 26 + 7432

3. In a garden there are 4120 red roses saplings and 3275 white rose saplings. How many saplings
are there in all?



4. Sunny scored 132 runs more than Sameer in a cricket match. Sameer scored 45 more runs
than Nitin. Nitin scored 28 runs. How many runs scored by Sunny?

5. Fill in the blanks-
a. 4 tens more than 4,632 is .

b. Successor of the sum of 4,762 and 3,216 = .

DIRECTION: In question number 6, a statement of Assertion (A) is followed by a statement
of Reason.Choose the correct option-

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason is true.

6. Assertion (A): 62 + 76 = 133, 76 + 62= 133
Reason (R): While adding numbers if we change the order of numbers, the sum does not get
changed.



7. Frame word problems for:
a. 324 pens+ 124 pencils = ? things

b. ₹892 + ₹7,321 =?



8. Rohan’s house is 5,432 meters away from Harsh’s house. Their school is 1634 meters away
from Harsh’s house. What is the distance between Rohan’s house and the school.?

9. Add following by splitting:

a. 72 + 47



b. 89 + 37


